
Opérations Mixtes (A)
Trouvez les chiffres manquants.

4 0 4 5 45 1 0 8 4 84 3 0 0 9 9 4 0 5 0 50 2 0 5 4
÷ ÷ 5 5 + 7 8 78 × × 7 7 ÷ 1 0 10 - 4 2
0 0 9 9 1 6 2 162 0 6 3 63 0 0 5 5 0 1 2

2 0 6 6 66 2 0 5 6 56 1 0 2 9 29 2 1 1 2 112 1 0 7 9
- 5 1 51 - 3 8 38 + 2 1 21 - 8 2 82 + 3 0
0 1 5 15 0 1 8 18 0 5 0 50 0 3 0 30 1 0 9

1 0 7 1 71 3 0 0 8 8 4 0 4 9 49 2 0 7 9 79 4 0 4 8
+ 4 8 48 × 1 0 10 ÷ ÷ 7 7 - 5 4 54 ÷ ÷ 8
1 1 9 119 0 8 0 80 0 0 7 7 0 2 5 25 0 0 6

4 0 4 8 48 3 0 1 1 11 2 0 8 5 85 3 0 0 9 9 1 0 1 1
÷ ÷ 8 8 × × 7 7 - 7 2 72 × × 7 7 + 1 2
0 0 6 6 0 7 7 77 0 1 3 13 0 6 3 63 0 2 3

1 0 4 7 47 1 0 8 0 80 1 0 3 0 30 1 0 4 7 47 3 0 0 8
+ 7 8 78 + 8 4 84 + 9 4 94 + 3 3 33 × 1 2
1 2 5 125 1 6 4 164 1 2 4 124 0 8 0 80 0 9 6

4 0 2 5 25 1 0 9 0 90 3 0 1 1 11 1 0 1 5 15 1 0 1 4
÷ ÷ 5 5 + 9 9 99 × × 7 7 + 2 3 23 + 8 3
0 0 5 5 1 8 9 189 0 7 7 77 0 3 8 38 0 9 7
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